0107TFHZRI) -V 7EFEN) LYy TFAMTFE FEBHR-E

B |2y 7> |&H) Ergues XA L N FVTE AV [#BEZA L
1 IHFE [KX (BT Ll 14.56 0 14.56
2 15[ L BR |4—7>3h0 15.664 0 15.664
3 13(5@ &= @7t 14.784 1.5 16.284
4 6|3RE L (BTt BB 13.288 3 16.288
5 | & |7 ErRE 13.512 3 16.512
6 14BH && |y osxEL 15.608 1.5 17.108
7 0@ M (BTt 14.168 3.5 17.668
8 ARA RIME @7 €l 15.392 3 18.392
9 21|5H 2 BT v+ HE 14.168 4.5 18.668
10 2|8s ME |#—7>5mn 13.712 5.5 19.212
11 2|24 ZRA] |7l 16.392 5 21.392
12 18|EFh Mz |BRX T+ XbE 18.44 4.5 22.94
13 120/ 1EE |HF v o7 REL 16.032 7 23.032
14 19+ FH |HFv s REL 15.984 8 23.984
15 8IiZHE BN |ZEX VT FRE 15.12 11.5 26.62
16 5|8 ME |BEEA YT XE 24.16 5.5 29.66
17 16|HLE X |BREX T+ XiE 25.072 7 32.072
18 11[E#E X8 |y 7 REL 17 16.5 33.5
19 3|EM =t |ZTEAVTF AW 23.392 15.5 38.892
20 17[5%R #K |BfRMEESE 24.64 27 51.64
21 R #H  |ZEA TV AW 30.886 21.5 52.386
22 20RO {5 |BiEREZE 24.424 50.5 74.924




